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With the transferring witnesses and it is according to Rabi Elozor

Overview

The X3 concluded, based on the inference from our 71wn that if a man has two
wives with the same name, he may be w73 one of them (even though that from the
v, it is not evident which wife he is w1»), that our 71wn follows the view of X" that
N3 1"y, and therefore since the 7"y see which wife he is divorcing, it is a proper ©3.

- 1 YN YIND AT OVY Janaav nnsnnn TN N RAPY 12993 99NN 2299 Yan
However according to %' (who maintains °n72 7n°nn >7Y) he cannot divorce
either wife, because we require that it should be evident from the signature

that this vx was written for the sake of this man and this woman, and it is not

evident from the signed 03 for which wife it was written -
- 21950 219 971 N9

And the »'"'y will not help to establish the nw?, because we need it to be LT TINM MM,
which was signed by the r1"v.

mooIn anticipates a difficulty:
- 31’1\’) YIIMNYI PPV 72 INTYY DIV (3,50 1mp9) YIMINT XIDM

And regarding that 71wn in w9a»7 P70 where two people sent two w33, each to
his respective wife, where all the names were the same [and the v became

mixed up], the mwn rules -
- 59199 9299 XYY NN NYDID 709 %29 MNP 1Y B IYY 1Y 0NNY M

He gives both v°) to this woman and both 03 to the other woman, and >''9

stated in the X923 there, ‘this 7107 is not according to X'’ -
- N NN 2997 Synun

"1t should be pointed out that '0n presumably means that it needs to be signed mwxm wXa 71 aw“ (but not 2n33)
since according to »"2 we only require 7w m2°nn (but not WY 72°n3). See DN WA

2 Even if there were 7700 Ty by the transfer of the v3, the vi will not be valid according to »n", since *n73 11"y, and
the 1"y cannot make the 03 effective since their testimony in the 03 does not indicate who is being divorced. See
"X Moo who writes that according to *7v2 7"72 >"w19 it appears that >"w1 is not "R>77 X"71' 073, but rather if there
are 177°0m °7y it will be 7w> even according to n"7 for according to >"w the wwn is not because of 121 13, but
rather 121 71 7711 RAW. w"»V.

? The n"a7 M1 amends this to read 1711 92990 MW (instead of 10N Pw).

* Each woman ultimately received her proper 3 from her husband for one v3 was intended for her.

> Each time a va is delivered to a woman, the "y do not know that this is the proper v3, they cannot say for certain at
each nrn1 that this 71°n1 effected the Pw1a. See the X3 there for ™K response to 727 .

% 777 ' said that the 7w is not in accordance with X", implying that it is in accordance with 2"9. Otherwise >~
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implying that according to 2''9 the 71wn is understood; however '01n just said that
we require that it be 12107 1212, and here since the names are the same it is not 1217 12127?!

Mmoo responds
= DOHNN TINN 993%Y NI N 91}:’0 N “M11 1anaws 9uh nYwrIaTa 3991 Bnn

There we are discussing a case, as I previously explained, where they wrote the
previous generations, or some identifying sign, or one of them was a 3713, so it is
evident from the signed v who the parties are -

- Y33179n 12°02 IN 1°MANI 192212 PR 192010 1Y
However the 2'"'y did not recognize their forefathers or the sign indicated in the va.

nooIn asks:
- PYNY 13 GO 1YY 3999 WYY (v 9m P93 1195 WINT FiNnY 9NN ON)

And if you will say; according to the one who, later in this 92, is concerned

for two cities called 9% and for two people called Iw»w 32 59 this concern is -
= PPVNN Y 1D NN 297 15 ONX IPIMN NDT 22 DY 9N

Even if it was not established that there are two ¥ or two ¥"2’; according to

this 7"% all 273 should be 192 according to »''2 who requires 121nn fd1M -
- 219901 N9 AW VI DIV 1N NNIUN KT

Since you can no longer find any w3 that it should be 2107 15 that this man from
this city is divorcing his wife because perhaps there is another man with the same name from the
same city (or another city with the same name) who is divorcing his own wife!

N1B0IN answers:
- Y593 9nNG RPY WHNT NID RENIN DIT KPITT PHYS 19529 IINY

And the >''1 says that only by a w» which was lost an found are we concerned
that perhaps it fell from another v">> (even though i 89) -

should have said this 71wn is not in accordance either with X"9 or n"1!

T Rn™pT "IN R, 7.

® The names and the fathers names of the parties (2p¥° 12 123X7) were the same but their grandfathers names ( 12 2p3”
Prx> and 0772K 32 2pY°) were different.

? One had an identifying mark which the other did not have, or some other feature which distinguished between them.

' Therefore according to X" it is not a good v3, since the »"y do not know which 13 belongs to which couple, while
according to "7 when the right v3 is given, the v ‘knows’ the truth; it is 12107 1.

" This is (seemingly) X177 27 (regarding > *3w) and X771 " (regarding w" 2’ ).

"2 The X3 there is discussing if a va was found can it be returned to the person named in the b3 or are we concerned
that perhaps there is another person with the same name (or another city with the same name) so it is not her v3.

" The vy is not telling us which "2 is divorcing his wife.

" There is a concern only by a X¥n17 b3, because since it was lost, this indicates that something may not be right with
this v3, otherwise a 03 is watched carefully and is not lost.
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- AN PYNY 12 G0 TAR $99Y NIN 171N KT 1199 *199m1 Nom 999w 2swn Yax
However by a regular v it is indeed considered 12102 12w since we know of
only one > and one @w''3° -

nooIN asks:
= 1Y INYN PRY 29 JY R WIND V) P29 (8,107 97 8903 833) VIV V) 7992 1INT 9NN ON)

And if you will say; for the 7w in vwp v P9p teaches, ‘we write a vs for a

man even though his wife is not with him’ -
- HNN PP 0970 PYNY 12 90 23U WINYY *NInxa 79999

And the X923 there asks, ‘but let us be concerned for two 2''2%> who live in the

same city, and their wives also have the same names -
= TORNT DINIMNRT RVI) NY PVNN NN

Perhaps he will bring the 3 to the other s'v"2> wife’, and she will be divorced illegally -
- a1 5393 1T NIN PYIIN PN DHX P2 0910 PYNY 12 4D W 29 1N 597 33UN)

And the X713 there answered, ‘this is what 29 taught; two @''2% who live in one

city, cannot divorce their wives only in the presence of each other’. This

concludes the citation of the 71wn and X73. M0N0 continues with his question -
- 1PUNN K97 (x13) TPAPY 199700 XD IPINN NI IR 99991 5350 NIWM)

But now, what case are we discussing; if it not established that there are two
v"2, there is no concern, since the X concluded later that we are not

concerned for two w", if it is W7 K?, so there is no need for any 730 and no concern -
= PYMI PPN DT 293 NTIDIAN YINN 229D 15 N I1PININA INY

And if it is W17, so according to »''", they cannot divorce even in the

presence of each other, for we require 12102 1> (which it is not), so the 73pn is useless -
= 791D YNMMY NI INY 1950 DIV IN 797 IN N2 929N°Y Ty

Unless they write 375 or previous generations or some sign, and in that case

there is no concern at all, since we will notice the distinction in the v -
- N1 99N ING IN WK NIT 1T ON Y99Y SPTP 19501 TP NN TYIN 2195 IN)

"% See wn nom.

'® 5,1op. The question seems to be that if we require the wife to be there when the va is written, so 7"°a will verify
that this is indeed his wife, they will write the v3 and have him give it to his wife, then and there. However if we
write the v3 for the husband without the wife, he may give the va later to his namesake’s wife (perhaps he wants to
marry her) and she will assume that she is divorced when in reality she is still married.

' Therefore there is presumably no concern for since we know that there are two w"2’, we will not allow him to
divorce his wife unless the other couple is present.

'8 This may be referring to the proof of 7121 there that X> X2 X1 X w"2* '2 1M1 *X. Additionally even according to
the 1Y there (on 2,13) that X°1 " is wwn even if yprma X2 that is only if it was lost (see footnote # 14), but not
otherwise. See ‘Thinking it over’.

' See *"w here *7v2 7"7. This is how the X723 explains how he can be w132 the 7217, etc. since the »"y know the couple.
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And if it is according to R''9, so the »''y properly know if this is his wife or not
as the X711 states here?! How can we understand that X723 in 2"27!

Mo0IN answers:
- ZHRUN 1T OR TINGY DPTPTR N0 1Y PRT 2PN 19929 91N

And the ''1 says that the 779°0% 57¥ are not that careful to see if this is his wife -
= NNYIY MY VI 2N NNYI NIV DIV )1’

Since they recognize his name and her name and his and her names are

written in the v3, so they assume that the woman receiving the 03 is his wife -
= 7Y NNYI MY MIVY 19230 NYNRY 193N NIY zz])’W”ﬁ N

And the n"v are not concerned that perhaps the husband will give the 3 to his

friend’s wife whose name is like his name and her name is like his wife’s name -
— Pasya 9N PYNY 12 90 WO DN 1PHANY 11NN YPON XY 0N

And also it does not enter in the minds of the »"v to verify whether there is

another 2''2" in the city -
- 17 592 %392 10N 1Y DIPYN XWINY NPNNY 171 172 ANV

So when the woman comes to 7''92 with her v, so that 7"°2 should permit her to

remarry, the »''y will testify before the 7''>2 -
- INYN NNN NOD ON YPTPT XYY 29 5y N 0 1Y 1) NYYAY INIY

That they saw that her husband gave her a w3, even though they were not

meticulous to verify whether she was actually his wife -
- NPT AINNINY NV 1Y SV RAYT WIN 7599 991

So therefore the X asked (how can you 777mn2% write a vx for the husband
without the wife), ‘let us always be concerned that perhaps he will bring this w3

to his friend’s wife -
- g5 N9Y ININT 1930017 21NV DAY PN 1PN ON PAMIN P PN 19SaNT

For even if those who are writing the v are unaware whether 21777 or not (so
seemingly there is no concern), nevertheless they should not write a v3 (without
the wife present) for occasionally it may be 2177 and the scribes and the n"V are
unaware -

%0 The >"1 answers that it is in a case of 11 and according to X".

2! See 0" who explains that our 73w, from which we infer that the person may give the 3 to his wife (even though
there is another couple with the same names) is in a case where the n"¥ testify that both couples were present.

2 A marginal note amends this to X2w " &%) (instead of Xnw 3w X9).

3 Had the n"v been meticulous they would have verified that indeed there is another w"2> in the city and would have
made sure that he is divorcing his own wife. However the n"y were lax in this respect.

2* Since it may be that w"2> 3w 117 and the 1"y are sometimes lax, therefore there is a concern,

 There are those who are aware of the two ¥"2* and others are not aware.
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- 1179392 N1 RYN PYNI PN O 0 2IY 2IUN)
And the X773 answers two "2, etc. do not divorce except in the presence of

each other -
- Tngnw 13 909 W DV 150 OX 101 ST 157 153 59Y *hnnY 197 HvaY ANaY)

So when she comes to 7''2 to be permitted to remarry, 7''°2 ask the »''y, (in a
case where it was P1m7) whether there were there two @''29, by the a1 n~on —

Moo responds to an anticipated difficulty:
- BnuN X9 Y DY 199591 19 DN NIN 1PYIII PRT ¥INY N8 KDY

And the X923 did not want to answer that (if there are two ¥"2’ in a city) they

can’t divorce unless the 2"V recognize that this is his wife, so there will no longer be

the concern perhaps he is divorcing is friend’s wife -
$N9°019 YTY INNMD?Y NIV 12 ONRT NIV NMIPH N PNT

For this is not a good enactment, for if indeed this will be the resolution, it will

be difficult to find »''Y; most people are not that familiar with knowing who are the
respective wives of the husbands.

Summary
If there are two w"2, according to n"7 they cannot divorce their wives unless there

is a clear distinction between them mentioned in the ©3, for we require 12107 12MA.
The concern of "2 1 is only by %51 and only if 1. The requirement that by '2
"2 they need to divorce in each other’s presence is because the n"¥ may not
(recognize the wives and not) be aware that there are w"2> '3 (even if P1m7).

Thinking it over

Moo writes regarding the X3 of TR YA 09777 W"2° '3 that 192 71 KOX PWIA PR
77, that it cannot be in a case where WM X2, because 11°w»n X7 1pY 1pon &2
Seemingly there is a much simpler proof, for if that X») is in a case where X%
1M, what does the X3 answer that 121 XPX Pwaan PR, but we do not know even
that there are two ¥"2°, so when will we institute this 732n?! Obviously we are

wwn only if yrma, for then we can implement that 121 X9 1w PRI

% The 7"+1 will certainly know (if it was 1) that there are two w"2” (even if others are unaware).

Y And if they were not there, 7"°2 will invalidate this v3.

*¥ Seemingly this is a better solution than having the other &"2> and his wife (who have no interest in this whole matter)
to appear for this divorce. Additionally in the current 71pn if the »"y were not aware and both couples were not there the
v3 would be 7109, however according to the proposed 17370, there would never be a problem, for the 2"y need to know.

¥ See footnote # 18.

30 See w1 "7 2,70 2" 'OIN.
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